

Republic of the Philippines Central Mindanao University

BIDS AND AWARDS COMMITTEE

Musuan, Bukindon

NOTICE OF AWARD

December 9, 2019

JERSON H. LIMOCON
Proprietor/Manager
XY BUILDERS
Purok 2, Patag, Bagontaas
Valencia City, Bukidnon

Dear Sir/Madam;

This is to inform you that bid proposal for the project *Proposed Construction of University Hospital Phase III* which shall be funded under *General Fund* after having been post-qualified and declared to have obtained the Lowest Calculated Responsive Bid, has been recommended for award by the Bids and Awards Committee (BAC) of Central Mindanao University by virtue of *BAC Resolution No.* **GF-PB-19-079** and the same has been approved by the Central Mindanao University thru the undersigned in the amount of *Four Million Eight Hundred Thirty Four Thousand Three Hundred Forty Three Pesos and 31/100 (Php4,834,343.31).* You are hereby requested to manifest your acceptance of the said.

You are therefore required, within the (10) days from receipt of this Notice of Award, to submit to us (a) this Notice with your signed "conforme" thereon, (b) the required Performance Security and CARI, (c) Updated Construction Schedule, S-Curve, Construction Methods, Manpower and Equipment Utilization Schedule, (d) Construction Safety and Health Program approved by the DOLE, and (e) PERT/CPM, all of which will form part of the Contract Agreement in accordance with the Bidding Documents. You are also required, within the ten (10) days, to formally sign the Contract Agreement.

Your failure to comply these requirements shall constitute a sufficient ground for the cancellation of this award and the forfeiture of your Bid Security.

Finally, it must be noted that you shall not commence the work nor initiate the procurement of materials for the project prior to your receipt of the Notice to Proceed.

Very truly yours

JESUS ANTONIO G. DERIJE

President

Received, Acknowledged and Accepted:

Name:

E JAGON LIMECE

Signature:

Date:

Republic of the Philippines CENTRAL MINDANAO UNIVERSITY

University Town, 8710 Musuan, Bukidnon E-mail Add. bac@cmu.edu.ph; Website: http://www.cmu.edu.ph

OFFICE OF THE BIDS AND AWARDS COMMITTEE

CONTRACT OF AGREEMENT

(GF-PB-19-079)

This AGREEMENT entered into at Musuan, Maramag, Bukidnon by and between the Republic of the Philippines, through the *Central Mindanao University represented by DR. JESUS ANTONIO G. DERIJE in her capacity as University President, hereinafter referred to as PARTY OF THE FIRST PART.*

And

XY BUILDERS of Purok 2, Patag, Bagontaas Valencia City, Bukidnon, represented by JERSON H. LIMOCON in his capacity as Proprietress/Manager hereinafter referred to as PARTY OF THE SECOND PART.

WITNESSETH

WHEREAS, the PROCURING ENTITY is desirous that the CONTRACTOR execute the works under General Funds- *Proposed Construction of University Hospital Phase III*, hereinafter called "the works", and the PROCURING ENTITY has accepted the calculated Bid of the CONTRACTOR for the execution and completion of the Works within One Hundred Thirty Five(135) calendar days at the calculated unit bid prices shown in the following Bill of Quantities, or a total Contract price of *Four Million Eight Hundred Thirty Four Thousand Three Hundred Forty Three Pesos and* 31/100 (Php4,834,343.31).

NOW, THEREFORE, for and consideration of the foregoing premises, the parties hereto agree as follows:

- 1. In this CONTRACT AGREEMENT, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereafter referred to.
- 2. The following documents shall be attached, deemed to form, and be read and construed as part of this CONTRACT AGREEMENT, and shall be interpreted in the following order of priority:
 - C. This Contract Agreement;

Proposed Construction of University Hospital Phase III

GF-PB-19-079

Php4,834,343.31

ITEM No.	DESCRIPTION	Quantity	UNIT	UNIT COST	TOTAL ESTIMATED
ı	MOVING IN	1	ls	10,164.00	10,164.00
II	CARPENTRY WORKS:			." 100	*
1003	Carpentry and Joinery			-	•
	A. Temporary Closure:	124.32	sq.m.	593.52	73,786.41
	B. Cabinets & drawers:	517.5	sq.m.	1,463.06	757,133.55
111	CIELING WORKS				-
A) Ceiling	727.83	sq.m.	912.53	664,166.71
IV	FINISHES			-	-
1018	B.)Ceramic Tiles	51.52	są.m.	1,385.53	71,382.51
v	PLUMBING WORKS		······································	_	-
1002	Plumbing Works	937	sq.m.	165.29	154,876.73
VI	DOORS, WINDOWS & GLAZING		***		
F	Doors, Windows & Glazing	142.11	sq.m.	2,395.60	340,438.72



ViI	STEEL WORKS	-			
A.	Architectural pipes & grill works:	171	sg.m.	2,756.74	471,402.54
VII	MECHANICAL WORKS				
Α.	Mechanical Works	1	LS .	196,190.15	196,190.15
VIII	ELECTRICAL WORKS			Í	
1100	Electrical Works	930	sq.m.	867.89	807,137.70
ίΧ	ENERGIZATION	1	LS	924,066.68	924,066.68
Х	PAINTING WORKS				
A)	Ceiling:	727.83	sq.m.	221.90	161,505.48
В)	Steel:	338.4	sq.m.	163.63	55,372.39
C)	Cabinets & Drawers:	517.5	sq.m.	263.87	136,552.73
ΧI	MOVING OUT	1	ls	10,167.01	10,167.01
	TOTAL				4,834,343.31

- D. Documents forming part of the Contract Agreement:
 - 1.) Notice of Award (NOA) with the Contractor's signed "conforme"
 - 2.) Contractor's Bid in the Form of Bid, including its Technical and Financial Proposals, as calculated by the Procuring Entity and conformed to by the Contractor through the NOA.
 - 3.) Bidding Documents
 - 4.) Specifications
 - 5. Drawings
 - 6.) Special Conditions of Contract (SCC)
 - 7.) General Conditions of Contract (GCC)
 - 8.) Performance Security
 - 9.) Other Documents
 - a) Construction Methods
 - b.) Construction Scheduled in the form of PERT/CPM Diagram or Precedence Diagram and Bar Chart with S-Curve, or other Approved tools of project scheduling, and Cash Flow.
 - C.) Manpower Schedule
 - d) Equipment Utilization Scheduled
 - e) Construction Safety and Health Program
 - F) Contractor's All Risk Insurance(CARI)
- 3. In consideration of the payments to be made by the PROCURING ENTITY to the CONTRACTOR as hereinafter mentioned, the CONTRACTOR hereby covenants with the PROCURING ENTITY to execute and complete the remedy any defects therein in conformity with the provisions of this CONTRACT AGREEMENT in all respects.
- 4. In consideration of the execution and completion of the works by the CONTRACTOR, the PROCURING ENTITY hereby covenants to pay the CONTRACTOR the unit prices in the CONTRACTOR'S Calculated bid, as applied to the actual quantities accomplished as certified by the PROCURING ENTITY under the provisions of this CONTRACT AGREEMENT, at the times and in the manner prescribed by this CONTRACT AGREEMENT.

IN WITNESS WHEREOF, the parties hereto set their respective hands on the day month and year first above written.

CENTRALIMINDANAO UNIVERSITY

ESUS ANTONIO G. DERNE

President

Witnessed by:

JOSE ALEXANDER G. ABELLA

Witness

MARIA JAMELYAH CELESTEM. MAGALONA

Withess

#UILDERS

IERSON H. LIMOCON

Manager

ACKNOWLEDGEMENT

REPUBLIC OF TH	HE PHILIPPINES)
PROVINCE OF _	BUMDNOY) S.S
MUNICIPALITY	OF JAKENO	10

BEFORE ME, a Notary Public for and in the above jurisdiction, on this day of December, 2018 at WAR OF CTH., personally appeared the following, exhibiting to me the following described Competent Evidence of Identity (CEI) in accordance with the 20 Rules on Notarial Practice:

	Competent Evidence of Identity	Date/Place Issued
Name	(CEI)	
JESUS ANTONIO G. DERIJE		
JERSON H. LIMOCON		

Known to me to be the same persons who executed the foregoing instrument and who acknowledged to me that the same is their free and voluntary act and deed.

This instrument refers to the Contract of Agreement consisting of two (3) pages including this page, signed by the parties and their witnesses on each and every hereof and thereof, including this page whereon the acknowledgement is written.

DECIN TESTIMON WHEREOF, I have hereunto set my hand and affixed on every page hereof my notarial seal this ____ day of in the Municipality of _____ Valencia , Bullanon _____

Page No. 24 Book No. XXXII Series of 2019

ATTY JAROLD REY N. GENERALAD

NOTARY PUBLIC FOR THE PROVINCE OF BUKIDNON

NOTARIAL COMMISSION NO. 33-19 , DATIL DEC. 31, 2007

ATTORNEY S ROLL NO. 67112, TIN: 486-874-365

IBP NO. 067845, 10 JAN 2019
PTR NO. 8154204, 24 DEC. 2018

